Number bonds (1) * %

1 What number bond is represented by the ten frames?

a ‘ ‘.. ‘I There are 13 black counters. There are 7 red
. ‘ ‘ ‘ ‘:I counters. Altogether there are 20 counters.
P’,..1%H__
00009 - :-
b |‘ .. .|‘| There are 6 black counters. There are
|_‘ ‘ ‘ ‘ ‘ red counters. Altogether there are counters.
00000 P -
00000 -
c |‘ ‘ . . ‘I There are black counters. There are
I—. ‘ . . ‘ red counters. Altogether there are counters.
00000 b=
00000 P -
d ‘ ‘ . . ‘ There are black counters. There are
. ‘ . . ‘ red counters. Altogether there are counters.
00000 - -
00000 P -
e ‘ ‘ ' ‘ There is black counter. There are
‘ ‘ ‘ ‘ red counters. Altogether there are counters.
0000 P -
0000 P -
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Number bonds (1) * %

1 What number bond is represented by the ten frames?
a i:.

0 )
()

.| There are 13 black counters. There are 7 red

counters. Altogether there are 20 counters.

13+7=_20
7+13=_20

Q0 O

There are 6 black counters. There are 14 red

counters. Altogether there are 20 counters.

6 + 14 - 20
14 + 6 = 20

There are 9  black counters. There are 11  red

(@]

counters. Altogether there are _20 _ counters.

Q 4+ 11 = 20
11T + 9 = 20

Q9 @

There are 15  black counters. There are _ 5  red

Q.

counters. Altogether there are _20 counters.

15 + 5 = 20
5 + 15 = 20

00 00

Thereis 1  black counter. There are 19 red

counters. Altogether there are _20 _ counters.

1T + 19 = 20
9 + 1 = 20
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